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Sorting Algorithm,

1. Descendants of insertion sort

1A,  /¢/ insertion sort /&/

(1 g VJ g#seq) k= j-1; (while k gt 0 § and seq(krl) 1t seqg(k))

{seq(k), seq(k+1)) < seq(k+l), seq(k)); k = k-1; end while;; exit;

IR,  /%/ centered insertion sort /&/

/¥/ initialize /#/ tseq = nl; median = 0; dpir = O: uptr = 0;

(2 <V S#seq) if seq(j) Lt tseg(median)
then // insert to the left of the median AL/

k = dptr-1; tseq(k) = seq(j); {(while tseq(k) gt tseq(k+1})

{tseq(k), tseq(k+1)> Ctseq(k+l), tseq(k)D: k = k+l;

end whilej; dptr = dptr+l;

el

sc %/ insert to the right /A

"

ko= uptr+ls tseq(k) = sea(); (while tseq(k) 1t tseq{k-1)}}

{tseq(k-1), tseq(k)> tseq(k), tseq(k-11 D)3 k = lk-1;

K~

end while; uptr = uptr+l; end else;

median = (uptr + dpts)/2; end Vs

/¥/ copy tseq back into seq 4/

H —_

go= 13 (dptrthiyuptr) seq(j) = tseq(m); j

= j+1; end Vm;
exit;

. // sliding insertion sort A/

k = log2ffseq; int = 2k¥k-1;



L1: (1 2¥m g int) A/ do for each subsequence /¥/
(xYig (#seq-m)/int) tseq(j+1l) = seq(jkint+m);;
/%/ copy it into tseq /#/
call insertsort (tseq);
(0gY] g (#seq-m)/int) seq(jgint+m) = tseq(j+l);;
/f%/ copy sorted tseq into seq A&/
end Vm;

Moo= M/25 17 M gt 0 go to Ll else exit;;

1D. /*/ calculated insertion sort A&/

(1< V3 5%tseq) call elinpcts(seq(,j), pockts);/A/ POCKTS is
sequence of pockets and FLINPCTS puts SiQ(J) into appropriate
pocket - PPCKTS(K) /#/

n=1; (1 < ¥k g#pockts) call insertsort(pockts(k));

/%/ pockets are sorted Ak/ |

(1 g ¥m gfpockts(k)) seq(n) = pockts{l,m); n = n+l;

end ¥ m; A/ sorted pockets are written into seq 4k/ endk/k;

end Vﬁ; exit;

1%, A/ tree inserticn sort 4/

elt = nl;y r =nl; 1 = nl;

tree = nl; ntop = newat; elt(ntop) = seq(l);

(2 sV <#seq) x = seq(J); top = ntop;.

Ll: if x gt elt(top) then if r(top) =_sL then v(top} = newat;

elt(r(top)) = x;



else top = r(top); go to Llj;
else if 1(top) =_,7 then 1(top) = newat;
elt(1(top)) = x;
else top = 1(top); go to Ll;;
end else;
end Vﬁ; seq = nl; traverse ntop; exit;

define traverse top; external seq;

D
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LI top eg./L then return; else traverse 1(top': seg(ffseq+l)=21t(top’;

- —

traverse r(top); return; end traverse;




